AT

AUTOGRIP MACHINERY

RK

F 2 L 16 o SR Bl 38 SR £

ST | KL

AR BiE - RERERAEL -

- PSR LI B A R R 0t R -

- ZEN T AEHHEY -

*tMARE SN RIREOHEE - B RFTESE -

AR

A= R EZEEAR- I = Q1 &= ERED

cm? cm? min”'(r.p.m.) MPa(kgf/cm?)
RK-75 442 37.1 15 6000 4.0 (40) 0.01 2.9
RK-100 785 71.5 20 6000 4.0 (40) 0.03 4.4
RK-125 122.7 N3l 25 6000 4.0 (40) 0.05 6.9
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 3141 290.4 35 5500 4.0 (40) 0.28 15.4
RK-250 469.] 436 60 2000 5.0(50) 0.4 452
K~
L2
L 5 3 ;
6~L1,/
(2 # - A 1.D. AE N1
TR [D P B:St 78 || [——
==\ —) 2 < o =
[ A B Dr {0 {4 ' = wLw Ao Q
o T | 8 Q (S
N 7] § s o
S0 e < | : I 3
\““_‘_‘ L~ 1 T N XK
S RC1/4" _ | /
A Drain Port 7% /| | /| | p

2~RC3/8" (RK-200:RC1/2") | /

_ 70 _| (RK-75160) Pressure Port £3H7,,
2~RC1/2 -
‘Pressure Port %5H7L Q P | J |
\Il - - -
I'Il..‘ f @ @ ‘
AN L NN
- i o 1)
@ @) - !
RC3/8" a ' L
Drain Port EEB]?L/DF R
RK-250
(R BIMASIE RO ALH
_ E ' M
B=s A C F G max. G min. H J L L1
(h7) (H8)
RK-75 75 15 107 90 90 65 30 45 30 57 148 M20x2.5 6-M8x16 M8x60 12 21 35 5 415 10 275 26
RK-100 100 20 132 15 100 80 30 45 25 72 163 M20x2.5 6-M10x20 M8x75 12 21 35 5 395 10 28.5 32
RK-125 125 25 160 140 130 10 35 50 25 82 172 M24x3.0 6-M12x20 M8x85 12 25 45 5 385 10 285 32
RK-150 150 30 190 170 130 1o 45 55 25 95 184 M30x3.5 12-M12x24 M10x100 16 32 45 5 37 10 28.5 32
RK-200 200 35 245 220 145 120 55 70 35 15 201 M36x4.0 12-M16x30 M10x125 21 38 60 5 38 6 28.5 28
RK-250 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 12-M20x35 M16x175 28 45 65 12 33 18 6 =

WWW.AUTOGRIP-MACHINERY.COM AUTOGRRIP


https://www.autogrip-machinery.com/proimages/products/Rotary-Cylinders/Non-Thru-Hole/RK/RK_img.jpg

